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4. |[f the eigenvalues of A = [4 ;] are ,11 =0 and Az = 4, then the ,--‘f i .._i—q-_—
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6. Let A bea3 x 3 matrix such that A> = 4 Let B — 3A-’ATA Ther\

deb A= g“/ﬂ‘/‘ fi,tf
detB = '&BM aeﬁ'
AL gl e

5 (i) ek S

. |

Scanned with CamScanner



/@ Q2) (6 points) Let A be 2 X 2 matrix. Consider the system:

y = Ay+[1]er If J’h~C1[11]e +c[ ] 2t yse the variation of 5(@ J/ ]

Parameters method to find the particular solution ¥p.

Y= 40 Yﬂ Le0ls 4 G | [
-\ \ e f-'ZE
$_._-—-—-.}' "3 -— ‘ M g‘ -k @
[ T g K
e

ol P ] e e L X
':C?ws) DY = % }[’“

= -3t -° 'f]’ [&-e-!*?c "(e 4%.-1))1

b
&t (V) ey UL
B ke
T leteuweal T < W w
a3) (5 points) Consider the ODE  x (x® = 4)’y" + 3(x — 2)y'+ 5y = 0. Find the
singular points and determlne theur t)vpes
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Q4) (3 points) Let A be 2 x 2 matrix. Given that ¥, = ¢, m et +¢, m e~t be
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the homogenous solution of the system y' = Ay + [r 2: ] if the undetermined

coefficients method is to be used, find the form of the particular solution of the

Q5) (6 points) Find a power series solution for the ODE: y" + (x2 + 1)y = 0,
about xy =0
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